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. Show that fcx)=,/zx+l +2x 15 continuous ol 3.
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3 Lk R be the rR AN boundleol l)y the %mpl«s og x=J8~¢ , Y=2X, x+§+4=0,
and let £ be wntinuous on R. Express ffm FELY) A as a sum of two
vterated im"‘:eamls of () Type I (o(g odx) and (b) Type I (dx 0(3)
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5 sketeh the graph of a continuous function £, If n & an odd infogec, thew
fm) =l and =0 ; 7f n is an even -‘nﬁf/‘,, thew F)=0 and T oloes
wot exist 5 if n o any inlyge | theu
ca) 'f"(x) 70 whewever 2n < x < 20+
) F <o whimever 2n-i<x<an

) ‘f'"(l)<0 whenevey 2n<x< an-+2
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8. Fiad o basis for the orﬁhvgom\,e mplement of the subspace spanned la«él,l

L, 02), (-,2,1,0), (03,1, 2).
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0. A certan populition of animals has two age groups ”)’oung " oned "old"
SI“FFOSQ there are n‘nif?a//a_ 200 Young om.‘wléls andl (00 oldl vmes,'(:lmjt
the birthrals for Young animals s T and for old ones s 4, awol
'(;L\oi' +he Pru(:abi“f& o young animals will survive T become olol s ZL
Releymine the number oF animals on €ach age Group no +lme g,wto 0a,




